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Paper 9 - Operations Management & Information Systems
Time allowed-3hrs Full Marks: 100
Section |
(Operations Management)

Answer Question No. 1 which is compulsory and answer any two from the rest, under Section I.

Working Notes should form part of the answer.

1. (a) Fill in the blanks given below: [1 x4 =4]
(i) ------------- is the process of polishing a work, after grinding, by means of abrasive
materials to give fine finish.

(i) -------------- is a method of Job Evaluation.
(iii) The adoption of JIT normally requires to improve ---------------- .
(iv) KAIZENisa --------- strategy of continuous improvement.

(b) Expand the following abbreviations: [1 x5 =5]
(i) MTM
(ii) MBO
(iii) AQL
(iv) MTBF
(v) SCM

(c) State whether following statements are true or false: [1 x5 =5]

(i) A pump moves liquids from higher pressure to lower pressure.

(ii) Technology has been one of the main drivers of globalization of business.

(iii) Project cost increases as the duration of the project increases.

(iv) Quality of lot submitted for inspection is the percentage of defectives actually present
in it.

(v) Z Chart is used in Quality Control.

(a) (i)  Lapping
(i) Factor comparison
(i)  Quality Standard
(iv) Japanese

(o) (i) Method Time Measurement
(i)  Management by Objectives
(i)  Acceptable Quality Level
(iv)  Mean Time Between Failures
(v)  Supply Chain Management

(c) (i) False. A pump moves liquids from lower pressure to higher pressure.
(ii) True.
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(iii) True

(iv) False. Quality of lot submitted for inspection provides the details of defectives actually
present in it.

(v) False. ‘Z' chart is a chart used in Programme Confrol.

2. (i)

Describe the factors influencing Product Design. [5]

(i)  H Industries is planning to set up a new plant. Following is a table showing alternative

locations and respective costs (in )

Costs Location Location | Location | Location | Location
1 2 3 4 5

Transport X per unit of 1.00 1.50 1.35 1.65 1.70
production

Power, ¥ per unit of 1.25 0.65 1.05 1.20 0.75
production

Investment in Land* 50 lakhs 35 lakhs 40 lakhs | 20 lakhs | 30 Lakhs
Building Construction* 130 lakhs | 110 lakhs | 120 lakhs | 90 lakhs | 100 Lakhs
Equipment (capital cost),
¥ per unit of production

volume 2.50 2.80 2.00 3.00 4.50
Location Taxes, etc. 10 lakhs 8 lakhs 12 lakhs 9 lakhs 20 lakhs
Wages (average) X per

unit of production 0.90 1.00 1.40 0.90 0.80

*to be costed at 15% per annum
If the volume of production is to be 5,00,000 units, what is the preferred location? If the
volume is expanded to 7,00,000 units, would the decision change? [6]

(iii) The annual sale of Computers by a dealer in Chennai are as under:

Year 2010 2011 2012 2013 2014
Sales ( thousand units) 3 14 36 4 33

Fit a linear trend equation to the sales figure and estimate the sales for the year 2015. [7]

Answer:

(i) Factors Influencing Product Design

. Customer requirements: The designers must find out the exact requirements of the
customers to ensure that the products suit the convenience of customers for use.
The products must be designed to be used in all kinds of conditions.

o Convenience of the operator or user: the industrial products such as machines and
tools should be so designed that they are convenient and comfortable to operate
or use.

. Trade off between function and form: the design should combine both
performance and aesthetics or appearance with a proper balance between the
two.

. Types of materials used: Discovery of new and better materials can improve the

product design. Designers keep in fouch with the latest developments taking place

Academics Department, The Institute of Cost Accountants of India (Statutory Body under an Act of Parliament)  Page 2



Answer to MTP_Intermediate_Syllabus 2008_Dec2014_Set 1

in the field of materials and components and make use of improved materials and
components in their product designs.

Work methods and equipments: Designers must keep abreast of improvements in
work methods, processes and equipments and design the products to make use of
the latest technology and manufacturing processes to achieve reduction in costs.
Cost/Price ratio: in a competitive market, there is lot of pressure on designers to
design products which are cost effective because cost and quality are inbuilt in the
design. With a constraint on the upper limit on cost of producing products, the
designer must ensure cost effective designs.

Product quality: The product quality partly depends on quality of design and partly
on quality of conformance. The quality policy of the firm provides the necessary
guidelines for the designers regarding the extent fo which quality should be built in
the design stage itself by deciding the appropriate design specifications and
tolerances.

Process capability: The product design should take into consideration the quality of
conformance, i.e., the degree fo which quality of design is achieved in
manufacturing. This depends on the process capability of the machines and
equipments. However, the designer should have the knowledge of the capability
of the manufacturing facilities and specify tolerances which can be achieved by
the available machines and equipments.

Effect on existing products: new product designs while replacing existing product
designs, must take into consideration the use of standard parts and components,
existing manufacturing and distribution  strategies and blending of new
manufacturing fechnology with the existing one so that the costs of implementing
the changes are kept to, the minimum.

Packaging: packaging is an essential part of a product and packaging design and
product design go hand in hand with equal importance. Packaging design must
take intfo account the objectives of packaging such as protection and promotion
of the product. aftractive packaging enhances the sales appeal of products in
case of consumer products (nondurable).

(ii) For 5,00,000 units production per annum the costs at various sites are:

Costs Location Locatfion | Location | Location | Locatfion
] 2 3 4 5

Transport 5,00,000 7.50,000 6,75,000 8,25,000 8,50,000
Power 6,25,000 3,25,000 5,25,000 6,00,000 3,75,000
Land 7.50,000 5,25,000 6,00,000 3,00,000 4,50,000
Building Construction 19,50,000 | 16,50,000 | 18,00,000 | 13,50,000 | 15,00,000
Equipment 12,50,000 | 14,00,000 | 10,00,000 | 15,00,000 | 22,50,000
Taxes 10,00,000 8,00,000 | 12,00,000 9,00,000 | 20,00,000
Wages 4,50,000 5,00,000 7.,00,000 4,50,000 4,00,000
Total Cost ) 65,25,000 | 59,50,000 | 65,00,000 | 59,25,000 | 78,25,000

Therefore at a volume of 5,00,000 units, Site No. 4 is preferred as it has the lowest total

cost.
For 7,00,000 units production per annum the costs at various sites are:
Costs Location Location | Location | Location | Location
1 2 3 4 5
Transport 7,00,000 | 10,50,000 9,45,000 | 11,55,000 | 11,90,000
Power 8.75,000 4,55,000 7,35,000 | 8,40,000 5,25,000
Land 7,50,000 5,25,000 6,00,000 | 3,00,000 4,50,000
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Building Construction 19.50,000 | 16,50,000 | 18,00,000 | 13,50,000 | 15,00,000
Equipment 17,50,000 | 19,60,000 | 14,00,000 | 21,00,000 | 31,50,000
Taxes 10,00,000 8.00,000 | 12,00,000 | 9,00,000 | 20,00,000
Wages 6,30,000 7,00,000 9.80,000 | 4,30,000 5,60,000
Total Cost %) 76,55,000 | 71,40,000 | 76,60,000 | 72,75,000 | 93,75,000

Therefore at a volume of 7,00,000 units, Site No. 2 is preferred as it has the lowest total

cost.
(iii)
Year Time deviation | Sales(‘000 units) | Square of Time | Product of time
from 2012 (Y) deviation deviation & sales
(X) (X2) (XY)
2010 -2 3 4 -6
2011 -1 14 1 -14
2012 0 36 0 0
2013 +1 4 ] 4
2014 +2 33 4 66
n=5 SX=0 >Y =90 >X2=10 Y XY= +50
Regression equation of Y on X
Y=a+bX
a= 2 = @ =18
n 5
o= IX1_%0_
>xc 10
Y =18 +5X

Y2015 =18 + 5(3) = 18 + 15 =33 i.e. 33000 units of computers.

3. ()A company has four zones open and four marketing managers available for
assignments. The zones are not equal in sales potentials. It is estimated that a typical
marketing manager operating in each zone would bring in the following annual sales:
Zones East West North South
Sales () 2,40,000 1,92,000 1,44,000 1,20,000

The four marketing managers are also different in ability. It is estimated that working
under the same conditions, their yearly sales would be proportionately as under:

Manager M N o P
8 7 5 4
If the criterion is maximum expected total sales, find the optimum assignment and the
maximum sales. [12]
(ii) List the programmes included in Preventive Maintenance schedule. [4]
(i) Define the term Competitive Benchmarking. [2]
Answer:

(i) Let Manager M represents the typical marketing Manager.
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Zones | Manager M Manager N Manager O Manager P
East 240 210 150 120
West 192 168 120 96
North 144 126 90 72
South 120 105 75 60
Opportunities Loss Matrix
Zones | Manager M Manager N Manager O Manager P
East 0 30 90 120
West 48 72 120 144
North 96 114 150 168
South 120 135 165 180
Row minimum operation
Zones | Manager M Manager N Manager O Manager P
East 0 30 90 120
West 0 24 72 96
North 0 18 54 72
South 0 15 45 60
Column minimum operation
Zones | Manager M Manager N Manager O Manager P
East 0 15 45 60
West 0 9 27 36
North 0 3 9 12
South 0 0 0 0
Minimum number of lines
Zones | Manager M Manager N Manager O Manager P
East 15 45 60
West 9 27 36
North ( 3 9 12
South f © O ©

As the minimum number of lines is not equal to order of matrix, let’s take step to increase
the number of zeros.

Zones | Manager M Manager N Manager O Manager P
East 0 12 42 57
West 0 6 24 33
North 0 0 6 9
South 3 0 0 0

Minimum No. of lines

Zones | Manager M Manager N Manager O Manager P
East ( 12 42 57
West ( b 24 33
North ( 6 9
South ] S, O
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As the minimum number of lines is not equal to order of matrix, let’s take step fo increase
the number of zeros.

Zones | Manager M Manager N Manager O Manager P
East 0 12 36 51
West 0 6 18 27
North 0 0 0 3
South 9 é 0 0

Minimum No. of lines

Zones | Manager M Manager N Manager O Manager P
East ( 12 36 51
West 6 18 27
North 5 S, 3
South ’ 6 6 0

As the minimum number of lines is not equal to order of matrix, let’s take step fo increase
the number of zeros.

Zones | Manager M Manager N Manager O Manager P
East 0 6 30 45
West 0 0 12 2]
North 6 0 0 3
South 15 6 0 0

Minimum No. of lines

Zones | Manager M Manager N Manager O Manager P
East D b 30 45
West D D 12 21
North b D D ¢
South 1 b D 0

As the minimum number of lines are equal to order of matrix, optimal assignment should

be made.
Zones| Manager M Manager N Manager O Manager P

East 0 ) 30 45

West D 0 12 21

North o D 0 3

South 15 » G 0

Zones| Manager | Sales |

East Manager M 32,40,000

West Manager N %1,68,000

North Manager O 90,000

South Manager P 60,000
Total %5,58,000

(ii) The maintenance programme includes the following:
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(a) Reconditioning or replacing of worn out parts or tools.

(b) Repairing or replacing worn out parts or tools.

(c) Checking all electrical connection of the machine or equipment.

(d) Checking the performance of each part of the machine or equipment.

(e) Cleaning of interior parts such as gear box, radiator etc., of fransport and material
handling equipments.

(f) Checking of control systems.

(g) Complete overhauling.

(iii) Competitive Benchmarking- This type of benchmarking can be carried out on the basis of
product, functions department or on a co. wide basis this is a cross comparison with in one
industrial sector aimed at establishing best practice through the identification of gaps
between your own and your competitors performance.

4. (i) The Everalert Lid, which has a satisfactory preventive maintenance system in its plant,
has installed a new Hot Air Generator based on electricity instead of fuel oil for drying the
finished products. The Hot Air Generator requires periodic shutdown maintenance. If the
shutdown is scheduled yearly, the cost of maintenance will be as under:

Maintenance cost % 15,000 < 20,000 < 25,000
Probability 0.30 0.40 0.30

The costs are expected to be almost linear i.e. if the shutdown is scheduled twice per year,
the maintenance cost will be double.

The probability distribution of breakdown cost is estimated as under:

Breakdown costs per annum % 75,000 ¥ 80,000 % 1,00,000
Shutdown once a year 0.20 0.50 0.30
Shutdown twice a year 0.50 0.30 0.20

Stimulate the total costs - maintenance and breakdown - and recommend whether the
shutdown should be resorted once or twice a year.

Random numbers

Maintenance costs (shut down once a year) 27, 44, 22, 32, 97
Maintenance costs (shut down twice a year) 42, 04, 82, 38, 91
Breakdown costs (shut down once a year) 03, 50, 73, 87, 59
Breakdown costs (shut down twice a year) 54, 45, 49, 03, 56

[10]

(ii) Draw the network for the following activities and find critical path and total duration of

project:
Activity Dependence Duration Activity Dependence | Duration
(days) (Days)
A - 6 G C,D 3
B - 3 H E 5
C A 5 I Cc,D 5
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D A 4 J G,H 2

E B 3 K F 3

F B 2 L JK 2

(8]
Answer:
(0]
Probability Distribution (Maintenance cost)

Cost () Probability Cum. Probability Range Range for simulation
15,000 0.30 0.30 0-0.30 0-0.29
20,000 0.40 0.70 | 0.30-0.70 0.30-0.69
25,000 0.30 1.00 | 0.70-1.00 0.70-0.99

Probability Distribution (Breakdown cost; shutdown once a year)

Cost () Probability Cum. Probability Range Range for simulation
75,000 0.20 0.20 0-0.20 0-0.19
80,000 0.50 0.70 0.20-0.70 0.20-0.69

1,00,000 0.30 1.00 0.70-1.00 0.70-0.99

Probability Distribution (Breakd

own cost; shutdown twice a year)

Cost (3) Probability Cum. Probability Range Range for simulation
75,000 0.50 0.50 0-0.50 0-0.49
80,000 0.30 0.80 0.50 - 0.80 0.50-0.79

1,00,000 0.20 1.00 0.80-1.00 0.80-0.99

Shut down once a year

Maintenance cost p.a. Breakdown cost p.a.

15,000 75,000

20,000 80,000

15,000 1,00,000

20,000 1,00,000

25,000 80,000

Total 95,000 Total ¥4,35,000

Average %19,000 Average 87,000

Total cost 19,000 + 87,000 =%1,06,000

Shut down Twice a year

Maintenance cost p.a.

Breakdown cost p.a.

20,000 x 2 80,000

15,000 x 2 80,000

25,000 x 2 75,000
20,000 x 2 75,000
25,000 x 2 80,000

Total %2,10,000 Total %3,90,000
Average 342,000 Average ¥78,000

Total cost ¥42,000 + 78,000 =%1,20,000

Shutdown once a year is recommended on account of lower annual cost.
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(if)

Paths Duration (days) Paths Duration (days)
ACI 6+5+5 =16 ADGJL 6+4+3+242 =17
ADI 6+4+5 =15 BEHJL 3+3+5+2+2 =15
ACGJL 6+5+3+2+2 = 18 Critical BFKL 3+2+3+2 =10
Section I

Information System

Answer Question No. 5 which is compulsory and answer any two from the rest, under Section Il.

5. (a) Fillin the blanks given below : [1 x5 =5]

(i) Oracle is based on a concept of -------- Technology.

(i) --------n-- has become a standard practice among many organizations as a way to
add flexibility to chain.

(iii) File activity = ----------- / Number of records in the file.

(iv) ---=----- is a redundant digit derived from some mathematical relation, out of other
digits of the code, which is incorporated in the code itself to ensure correctness of
code.

(v) After Bootstrapping, Operating System from ---------- is loaded into RAM to put the
computer in operation.

(b) Expand the following abbreviations: [1 x5 =5]

(i) MOTIS

(ii) OOPS

(i) B-ISDN

(iv) OLE

(v) SVGA

(c) State whether following statements are true or false: [1 x4 =4]

(i) Data Mart has no relevance to Data Warehousing.
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(ii) A record is identified by its key field.
(i) In fact, the ‘effector’ is another name for Management Information System (MIS).
(iv) Memory is used to store data, programs and results.

Answer:

5.

(a) (i) Client/Server

(ii) Outsourcing

(i) Number of records accessed
(iv) Check Digit

(v)  Hard Disk

(b) (i) Message oriented Text Interchange System

(
(i)Object Oriented Programming System.
(iii)Broadband- Integrated Services Digital Network
(iv) Object Linking & Embedding

(v)Super Video Graphics Adapter

(c) (i) False. Data mart is the simple form of data warehousing. In other words, it is a scaled

down version of data warehousing.

(i) True. This key field used for searching a particular record for processing, display, edifing
etc.

(i) False. In fact the ‘detector’ is another name for Management Information System
(MIS)
(iv) True. Memory is used to store data, programs and results.

(i) State the advantages of System Development Life Cycle from the perspective of

Information System Audit. [4]
(ii) Describe Firewall and state its advantages. [5]
(iii) Define Database Administrator. [4]

(iv) In a Purchasing Order Processing system, a purchase order record has the following
fields:

Field Name Maximum Field Size
Purchase order number
Vendor Code
Order-quality
Order date
Record Deletion maker 1
It is estimated that at any point of time, the outstanding Purchase Order file would
have a maximum of 750 outstanding purchase order records in the file (once
material is received, the purchase order record is purged from the file.) However,
there may be a 15% increase in the total number of records in near future. The file
management software also requires an overhead of 20% for minimizing probabilities
of collision and overflow conditions. Compute the total file space requirements after
allowing for 10% contingency factor on the total. [5]

o~ (0| (o~

Answer:
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(i) Advantages of System Development Life Cycle from the perspective of IS audit

e If the detailed documentation is maintained during each phase of the SDLC the IS
audiftor can easily understand each phases,

e The IS auditor on the basis of his examination, can write in his report about the
compliance by the IS management of the procedures, if any, set by the
management,

e If The IS Auditor has a technical knowledge and ability of the area of SDLC, the IS
Auditor can guide during the various phases of SDLC.

e The IS auditor can also provide an evaluation of the methods and techniques used
through the various development phases of the SDLC.

(ii) Firewall is used to protect the firm's infernal resources from access by unauthorized
user. Firewall is a security system that is placed between internet and an enterprise’s
network or within a network. The main feature of firewall is packet-filtering router so
that vital information does not pass to any unauthorized intruder, even if he manages
get access to the network system.

Advantages of firewall:

Concentration of security, all modified software and logging is located on the firewall
system as opposed to being distributed on many hosts.

Protocol filtering, where the firewall filters protocols and services that are either not
necessary or that cannot be adequately secured from exploitation.

Information hiding, in which a firewall can hide names of internal system or electronic
mail addresses, thereby revealing less information to outside hosts.

Extended logging, in which a firewall can concentrate, extended logging of network
fraffic on one system.

(iii) Database administrators

In any organization where many persons use the same resources, there is a need for
a chief administrator fo oversee and manage these resources. in a daftabase
environment, the primary resource is the database itself and the secondary resource
is the DBMs and related software. Administering these resources is the responsibility of
the database administrator (DBA). The DBA is responsible for authorizing access to
the database, for coordinating and monitoring its use, and for acquiring software
and hardware resources as needed. The DBA is accountable for problems such as
breach-of security or poor system response time. In large organizations, the DBA is
assisted by a staff that helps carry out these functions.

(iv) Calculation of Record Size:

Field Name Maximum Field Size
Purchase order number
Vendor Code
Order-quality
Order date
Record Deletion maker
Therefore, Record Size 2

—|= O~ [ [W|O~

Calculation of File Space Requirement:

Record Size(q) 21
Maximum expected records(b) 750
Required Record Space(c=a x b) 15,750
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+15% increase in future (15% of ) 2,363
(d) 18,113
+ 20% overhead (20% of d) 3,623
(e) 21,736
+10% contingency (10% of e) 2,174
Therefore, file space required 23,910
7. (i) Describe the term On-line Analytical Processing. [6]
(ii) ‘A successful BPR implementation brings significant improvement to productivity,
customer service and bottom -line.’- State the implementation phases. [8]
(iii) List the sub-systems under the Sales and Distribution Module of an ERP system. [4]

Answer:
(i) On-line Analytical Processing (OLAP)

An OLAP software does the analysis of information from data warehouse. The OLAP
applications are widely scaftered in divergent application area like finance
Management, sales analysis. The real test of an OLAP system is inefficient use of data
from databases and computational capability of data to develop model establishing
the relationship of various parameters. In fact, it provides the services of ‘just-in-fime’
information.

Though OLAP software are found in widely divergent functional areas, they have three
common key features which are:

e Multidimensional views of data

e High analytical ability

o ‘Just-in-time' information delivery

Rarely a business model limited a fewer than three dimensions. The common dimensions
in business environment are organization, line item, time, product, channel, place etc.
OLAP system should have the ability to respond the queries from a manager within a
specified tfime. The OLAP software must provide a rich tool kit of powerful capability of
analytical ability.

(ii) Implementation phases of Business Process Re-engineering

e Project kick off: project goal, project team and communication standards are
agreed upon. a number of workshops are held where project scope, sponsors
commitment, project risk, milestones and deliverables are discussed. A SWOT
(strength, weakness, opportunities and threat) analysis is carried out with active
participation of all.

e Process identification and data gathering: “As is” processes are assembled through
flow charts. Current practice of interfacing with business partners is gathered.
Boftlenecks, delays, complexity, internal blame games, idle assets etc. are brought
forward. Use of existing technologies is comprehended. Major and strategic business
processes to be reengineered, are idenftified. Stakeholders categorize the processes
to be reengineered and agreed upon on the fimeline of implementation.
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e Process reengineering: in this phase, actual reengineering begins. a number of brain
storming sessions are held with project team and other stakeholders, where current
business processes are critically analyzed to determine non value adding activities
and identify excess control and check, always with customer value as a focal point.
Impact of new technologies on process improvement is also evaluated. New process
ideas with reduced check and control and enabling technologies such as Workflow
Automation and ERP, are envisaged. Benchmarking is also done with best of breed
industrial peers.

e Blueprint of new system: Blueprinting involves modeling workflow and information
requirement, of new business processes. “To be” processes are modeled using various
modeling fools. New organization structures, human resource need, performance
monitoring and compensation, technological needs, are also outlined. Normally, a
first cut redesign scheme is produced which is modified after gathering actionable
feedback from the stakeholders.

e Transformation: A migration strategy and a migration plan is the first step of
tfransformation. Migration strategy may decide as a pilot, phased or big bang
implementation. The migration plan would include establishment of new
organizational structure, detailed training and reallocation of workforce, and cut off
dates for implementation. Change management and introduction of new
technologies will form an important part and may need engagement of outside
consultants for this specific purpose. There should be provision on the plan to tweak
the implemented system so as to get maximum value out of it.

(iii) The sub-systems in a Sales and Distribution Module of an ERP package are:
o Master Data Management

Customer Order Management

Warehouse Management

Shipping

Billing

Pricing

Sales Support

Transportation

Foreign Trade

Salesman-wise Data Analysis.

8. (i) Describe the composition of the Cyber Appellate Tribunal. [5]
(ii) List the main reasons for the spread of E-commerce. [6]
(i) ‘According to Section 30 of the Information Technology Act,2000, Certifying Authority
shall follow certain procedures in respect of Digital Signatures.’- List the procedures. [4]
(ii) Discuss the purposes of Telnet. [3]

Answer:

(i) The composition of the Cyber Appellate Tribunal is provided for under section 49 of the
Information technology act, 2000. Initially the tribunal consisted of only one person who
was referred to as the Presiding Officer who was to be appointed by way of notification
by the Central Government. Thereafter the Act was amended in the year 2008 by which
section 49 which provides for the composition of the Cyber appellate tribunal has been
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changed. As per the amended section the fribunal shall consist of a Chairperson and
such number of other Members as the Central Government may by nofification in the
Official Gazette appoint. The selection of the Chairperson and Members of the Tribunal is
made by the Central Government in consultation with the Chief Justice of India. The
Presiding Officer of the tribunal is now known as the Chairperson.

(ii) Main reasons for the Spread of E-commerce:

e Digital convergence, i.e., it means that due to digital revolution almost all digital
devices can communicate with one another.

e Today's E-commerce is available to anyone, anywhere in the world, anytime 24/7 (24
hours a day, 7 days a week).

e It helpsin bringing about positive changes in an organization.

e People are now having a widespread access to it and personal Computers (PCs).

e E-commerce helps in reducing operating costs and increasing profit margins due to
global operations.

¢ Demand for customized products and services are increasing.

(iii) According to section 30 of the Information Technology Act, 2000, Certifying Authority

shall follow certain procedures in respect of Digital Signatures as given below:

* Make use of hardware, software and procedures that are secure from intrusion and
misuse.

* Provide a reasonable level of reliability in its services, which are reasonably suited to
the performance of intended functions.

¢ Adhere to security procedures to ensure that the secrecy and privacy of the digital
signatures are assured and

¢ Observe such other standards, as specified by the regulation.

(iv) Purposes of Telnet:
e Telnet is a specialized service that lets you use one computer to access the contents of
another computer- a Telnet host.
e A Telnet program creates a ‘window' intfo the host so you can access files, issue
commands, and exchange data.
e Telnet is widely used by libraries, to allow visitors to look up information, find articles, and
SO on.
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